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coded 0 for no and 1 for yes, the additive index would again be incorrect.7 Third, after running generate, 
obtain a frequency distribution of the newly created variable. Upon examining the frequency distribution, 
you may decide to run recode to collapse the new variable into more useful categories. 

Tabulate each of the component variables to see how their values are encoded. They’re not encoded 
identically and in the same direction, so we’ll need to do some quick recoding before creating an additive index. 
We want each component variable to be coded such that a value of 1 corresponds to support for abortion access 
and 0 corresponds to opposition. The coding protocol in Table 3-2 helps us recode these variables correctly.

Having created seven new indicator variables, each coded the same way with 1 representing support for 
abortion access and 0 signifying opposition, we ask Stata to generate a new variable, which we named 
abortion, by summing the values of abdefect_r, abhlth_r, abnomore_r, abpoor_r, abrape_r, absingle_r, and 
abany_r.8 To replicate the abortion scale, run the following command:

Stata runs the command and deposits the new variable, abortion_n7, at the bottom of the Variables 
window. What does the new variable look like? To find out, run “graph bar [aw = wtss], over (abortion_n7)” 
to create the simple bar chart shown in Figure 3-1.

7Survey datasets are notorious for “reverse coding.” Survey designers do this so that respondents don’t fall into response bias, or 
automatically give the same response to a series of questions. Although you may need to be on the lookout for reverse coding in your 
future research, none of the examples or exercises in this book will require that you “repair” the original coding of any variables.
8An alternative method of creating an additive index from the same variables is the extended variable creation command, egen, with 
the row mean function, rmean. This will calculate the proportion of circumstances in which respondents supported access to abortion 
given the questions they answered, so scale values are calculated even if some component variables are missing. Try “egen abortion_
scale_rmean = rmean(abany_r abdefect_r abhlth_r abnomore_r abpoor_r abrape_r absingle_r)” and compare the results to the 
abortion_n7 variable created in the text.

Figure 3-1  Bar Chart of an Additive Index




